

August White Oak/Parkville 5 Man Prize Pay Out

1st Place - \$1000 Each

Colton Gue, Zander Beddow, Jeff Wetzel Jr, Matt Anastasi, Justin Stewart

2nd Place - \$600 Each

Steve Rowley, Mike Sisk, Thomas Harvey, Andrew Gaver, Matt Buckingham

3rd / 4th Place - \$400 Each

Gregg Boyle, Jason Sauter, Mark Schwabline, Chuck Quattrocche, Winnie Shriver
Bill Bright, Ray Keith, Marty Barnes, Bruce Smith, Jay Davis

5th / 8th Places - \$200 Each

Chasity Gray, Mike Turner, Devon Fogle, Derrick Kaas, Tommy Ebersole
Jr Everett, Eddie Wisniewski, Eddie Helferstay, Roy Higgs, Evan Stevens
Melissa Hartner, Chris Hartner, Chris Kruger, Lilly Kruger, Rob Gold
Eric Ball, Brandon Ball, Steven Hoover, Jack Farro, Allen McDaniel

9th / 16th Places - \$135 Each

Jeramie Killingsworth, JD Davis Jr, Erick Wenk, Billy Koontz, Rob Yowell
Dylan Hanshew, Colby Smith, David Smith, Tyler Smith, Gary McKinsey
Nick Muscatelli, Mia Femino, Andrew Mello, Kyle Holton, Steve Mollicone
Mark Parker, Tyler Algren, Pretson Simpkins, Steve Borges, Paul Frosolone
Richie Hipkins, Barry Schriefer, Randy Farlow, John Eckenrode, Doug Armolt
Joe Elliott, Mike Copper, Wayne Lipka, Mark Berends, Denise Copper
Colby Deantoniis, Walt Brooks, Logan Turner, Phil Dix, Alex Barnes
Scott Barrick, Zach Barrick, Brandon Barrick, Raymon Tyson, Mary Boeckman

725-0810

August w/ Parkville 5 MAN

Sanction	Last	First	Ent	Gms	Avg	Pinfall
138405	Alder	Jamie	131	11	134.45	1479
162551	Algren	Tyler	137	12	133.75	1605
161946	Anastasi	Matt	151	16	141.06	2257
164167	Anderson	Justin	134	11	121.18	1333
164052	Armacost	Kristen	106	11	107.91	1187
164846	Armolt	Doug	113	13	121.69	1582
164550	Baker	Gabby	126	11	130.09	1431
163895	Ball	Brandon	116	13	123.38	1604
122018	Ball	Eric	124	13	123.23	1602
153346	Barnes	Alex	135	12	136.16	1634
103165	Barnes	Eric	129	11	124.45	1369
114371	Barnes	Marty	127	15	135.13	2027
164150	Barrick	Brandon	112	11	123.73	1361
164151	Barrick	Scott Jr	112	11	121.55	1337
164607	Barrick	Zach	103	12	117.08	1405
163705	Beddow	Zander	142	16	146.94	2351
157968	Bee	Jay	125	11	124.82	1373
119925	Berends	Mark	138	13	138.15	1796
142435	Biederman	John	146	11	145.64	1602
122128	Boeckman	Mary	104	12	110.91	1331
161035	Borges	Steven	137	12	151.83	1822
154344	Boyle	Gregg	129	15	130.46	1957
116848	Brayden	Bobby	128	11	129.27	1422
159061	Bright	Bill	126	15	112.80	1692
122863	Brooks	Denise	113	12	113.58	1363
121721	Brooks	Walt	144	12	138.91	1667
164911	Brown	Haile	126	12	126.67	1520
112072	Brown	Pixie	128	11	127.09	1398
164953	Buckingham	Andrew	141	12	141.25	1695
162794	Buckingham	Matt	144	15	142.06	2131
165312	Bucklew	Zack	118	11	122.55	1348
124784	Bull	Kristin	132	11	114.64	1261
133190	Bull	Steve	137	7	128.45	1413
130425	Carper	Sean	122	11	119.82	1318
102140	Catlow	Bob	137	11	134.91	1484
162372	Chapman	Danielle	111	11	114.36	1258
163192	Ciepiela	Josh	118	11	121.73	1339
110096	Collison	Bill	136	11	135.18	1487
164896	Cook	Brandon	107	3	80.00	240
156560	Cool	Randy E	117	11	117.55	1293
112544	Copper	Denise	100	13	98.30	1278

Gabrielle

John Beuchert

Robert Jr

Zachary

112533	Copper	Mike	123	13	121.76	1583
119197	Darling	Eddie	132	11	131.73	1449
150565	Davis	Jay	130	15	130.87	1963
157913	Davis	JD	137	12	142.00	1704
163681	DeAntoniis	Colby	149	12	157.25	1887
124795	DeAntoniis	John	147	11	140.09	1541
120254	DeAntoniis	Noelle	131	12	119.42	1433
181518	Dent	Jake	112	11	121.82	1340
152901	Dix	Phil	145	12	145.25	1743
130730	Dodson	Shaun	126	11	121.27	1334
163690	Doody	Felicity	121	11	117.18	1289
148955	Ebersole	Tommy Jr.	125	13	134.23	1745
151016	Eckenrode	John	131	13	127.07	1652
157097	Elliott	Joe	125	13	121.53	1580
164595	Ensor	David	119	11	120.55	1326
140410	Everett	JR	133	14	136.78	1915
123057	Farlow	Randy	137	13	135.53	1762
112209	Farro	Jack	122	13	119.85	1558
114970	Fellas	John	119	11	124.18	1366
164280	Femino	Mia	127	12	139.92	1679
162863	Ferger	Matt ^{new}	120	12	120.17	1442
161936	Fink	Josh	128	11	128.27	1411
165287	Fogle	Devon	121	13	136.61	1776
165286	Fogle	Maya	124	11	125.91	1385
152839	Frosolone	Paul	121	12	131.08	1573
162606	Gang Jr	Mike	FALSE	1	123.00	123
147277	Garber	Stephanie	110	11	109.82	1208
158083	Gaver	Andrew	135	15	129.80	1947
164250	Gifford	Norm	112	11	106.82	1175
150411	Gold	Robert	114	13	116.46	1514
147279	Gray	Chasity	129	13	130.15	1692
149560	Green	Jon	146	12	136.58	1639
162344	Gue	Colton	146	16	145.94	2335
128293	Hahn	James Jr	126	11	112.82	1241
163142	Haller	Derek	125	11	133.27	1466
110179	Haller	Keith	121	11	111.73	1229
163171	Haller	Matthew	106	11	102.27	1125
151055	Hammond	Mindy	133	11	122.91	1352
162753	Hanshaw	Dylan	134	12	135.25	1623
160563	Hartner	Chris	132	11	138.27	1521
162248	Hartner	Melissa	114	13	106.23	1381
164789	Harvey	Thomas	133	15	131.93	1979

Michael

John Jr.

Jakob

Joseph m

Jonathan JR

142360	Hayes	James Tre III	118	11	108.91	1198
163543	Heffner	George III	103	11	110.55	1216
111219	Helferstay	Ed	130	14	128.85	1804
139403	Hicks	Chuck	135	11	129.36	1423
128245	Higgs	Roy Jr	128	14	127.78	1789
122876	Hipkins	Richie	141	13	140.92	1832
164800	Hodges	Jordan	110	11	106.27	1169
163896	Hodges	RJ	133	12	139.33	1672
164261	Holland	Tim	122	11	124.27	1367
163674	Holton	Kyle	133	12	142.25	1707
160277	Hook	Chris	146	11	143.73	1581
158495	Hoover	Steven	125	13	125.54	1632
165326 148960	Huber	John	144	11	116.64	1283
164090	Huff	Gene	111	11	114.27	1257
164087	Huff	Lisa	119	11	115.64	1272
154797	Hughes	David	134	11	138.64	1525
154764	James	Kyle	120	11	120.91	1330
132047	Jones	Dave	129	11	126.09	1387
150824	Judy	Tom Sr	111	11	106.73	1174
163707	Kaas	Derrick	130	13	137.53	1788
119775	Keith	Ray	133	15	129.13	1937
157695	Kennedy	Chris	129	11	119.82	1318
162139	Kerr	Brady	125	16	115.91	1275
157914	Killingsworth	Jeramie	130	12	118.08	1417
164091	King	William	116	11	119.82	1318
124730	Kiskis	Mike	128	11	117.27	1290
128287	Klingelhofer	Mark	148	11	143.27	1576
164912	Klingelhofer	Sarah	126	11	112.75	1353
157912	Koontz	Billy	135	12	140.75	1689
154826	Kruger	Chris	142	13	143.54	1866
163626	Kruger	Lilly	103	13	99.85	1298
164169	Kushner	Joshua	115	8	117.88	943
160396	LaBoyer	Joe	128	12	135.75	1629
158153	LaPointe Jr	Mike	127	11	131.27	1444
106050	Lapointe Sr	Mike	123	11	120.91	1330
118783	Lindemann	Mike	123	11	117.91	1297
156292	Lipka	Wayne	141	13	126.69	1647
142883	MacLaughlin	Scott Sr	124	11	120.27	1323
130309	Magruder	Tim	107	11	114.91	1264
117438	Marinucci	Sal	135	11	135.45	1490
162386	Martin	John	128	11	120.64	1327
157746	Matheson	Cory	133	11	123.00	1353

Thomas

Buckingham

Kathryn

155344	Matheson	Katie	113	11	117.00	1287
165038	Mattis	Evan	101	11	102.91	1132
110063	Maurer	Stephen	109	11	115.55	1271
112556	May	Danny	128	12	124.00	1488
158323	McClay	Dani	140	11	137.18	1509
143712	McDaniel	Allen	117	13	117.00	1521
125098	McKinsey	Gary	133	11	132.00	1584
164032	McLaughlin	Joseph	131	11	129.18	1421
164264	Mello	Andrew	124	12	133.50	1602
155611	Miller	Tommy Jr.	131	12	135.50	1626
164956	Mitchell	Noah	118	12	130.00	1560
154768	Mittelstetter	Kenny III	129	11	116.64	1283
152929	Mock	Mike	114	11	116.55	1282
153593	Mollicone	Alicyn	123	11	115.64	1272
151986	Mollicone	Steve Sr.	132	12	136.33	1636
125131	Morales	Sherry	112	11	103.27	1136
148220	Moreland	Clayton	138	11	125.64	1382
114342	Moseley	Tom	125	11	125.45	1380
165483	Muise	Greta	100	11	94.18	1036
159340	Muise	Ryan	120	11	132.36	1456
164306	Muscatelli	Nick	128	12	127.25	1527
150380	Nadeau	Jeffrey	118	11	118.55	1304
160949	Naumann	Zach	126	11	140.45	1545
160447	Nebinger	Jennifer	111	11	108.64	1195
161503	Nebinger	Michelle	112	11	109.91	1209
164386	Niang	Skylar	100	11	91.18	1003
119099	Ober	Dennis	134	12	134.58	1615
164642	Oliveira	Mikki	104	11	105.82	1164
159608	Oursler	Jake	131	11	125.45	1380
156887	Parker	Mark Jr.	141	12	137.75	1653
130513	Peach	Brian	129	11	120.18	1322
163858	Petty	Breanna	101	11	103.25	1239
162528	Phillips	Greg	113	8	109.25	874
128429	Pistorio	Erik	137	11	136.55	1502
118957	Poole	Bucky	128	11	130.45	1435
120432	Quattrocche	Chuck	130	15	130.60	1959
162249	Quattrocche	Danielle	112	11	104.36	1148
128004	Ravenscroft	Melvin	124	11	117.00	1287
162818	Rhoderick	Scott	122	11	125.00	1375
154781	Riley	Rick	113	11	113.00	1243
165656	Ripley	Cody	103	11	120.27	1323
165213	Rogers	Taylor	121	9	130.44	1174

* 144 see attached

* 112 see attached

114683	Roth	Chris	133	11	126.64	1393
152111	Rowley	Steve	134	15	145.27	2179
164625	Rubacha	Alex	119	11	120.18	1322
158820	Ruthvin	Joe <i>JF</i>	137	11	139.18	1531
161943	Santos	Dylan	137	11	140.18	1542
154879	Sauter	Jason	141	15	137.80	2067
161944	Schaeffer	Mike	135	11	130.18	1432
164392	Schline	Abbey	132	11	123.91	1363
162388	Schreibman	Frank	132	7	131.57	921
162219	Schreibman	Sam	115	11	112.55	1238
155119	Schriefer	Barry	132	13	144.53	1879
111084	Schulman	Steve	130	11	123.91	1363
125476	Schwabline	Mark	138	15	138.53	2078
147069	Shriver	Winnie	141	15	150.40	2256
164143	Simpkins	Preston	135	12	140.08	1681
127014	Sisk	Mike	127	15	140.13	2102
154222	Sloan	George <i>IV</i>	139	11	133.91	1473
155023	Smith	Barry	119	11	109.82	1208
130891	Smith	Bruce <i>L</i>	145	15	141.00	2115
161476	Smith	Colby	129	12	132.92	1595
161477	Smith	David	109	12	113.67	1364
161478	Smith	Tyler	116	12	113.33	1360
125556	Soukup	Bill	137	11	131.82	1450
124775	Sparkman	Howard	120	11	124.09	1365
162971	Spiegel	Mike	116	11	116.82	1285
122457	Steger	Bruce	116	12	123.75	1485
162767	Steger	Shawn	118	12	110.50	1326
124042	Steinert	Mike	142	8	128.63	1029
164947	Stevens	Evan	118	14	130.00	1820
149682	Stewart	Justin	134	16	132.00	2112
164478	Stillrich	Jen	103	11	103.18	1135
123358	Thomas	Billy	142	11	142.64	1569
121989	Tressler	Carol	119	11	119.36	1313
165481	Turnbow	Pat	107	11	108.82	1197
164354	Turner	Logan	128	12	139.33	1672
130191	Turner	Mike	135	13	131.92	1715
162607	Tyson	Raymond	122	12	121.08	1453
155666	Usilton	Chris	128	11 15	128.91	1418
159502	Vallinas	Mike	131	4	128.75	515
163143	Vinson	<i>Do</i> Shawn	113	11	117.09	1288
164403	Walko	Andrew	120	11	118.82	1307
116829	Wander	Dave	131	11	124.64	1371

JE JR

163082	Watson	Brandon	121	12	114.92	1379
158453	Watson	Chris	125	11	125.55	1381
162062	Weller	Chuck	FALSE	1	118.00	118
146391	Welton	Russ	121	11	106.82	1175
134463	Wenk	Erick	137	12	142.58	1711
142097	Wetzel or	Jeffrey A	137	16	138.13	2210
164076	Wheatley	Traci	106	11	110.45	1215
164081	Wiener	Conner	130	4	122.00	488
160556	Wiley	Andrew	137	11	132.36	1456
162922	Wiley	Ashlee	117	11	107.73	1185
165101	Williams	Logan	128	4	120.50	482
164793	Williams	Menelki	100	11	97.73	1075
160125	Wisniewski	Eddie	129	14	128.14	1794
158041	Yowell	Rob	130	12	139.42	1673
159723	Zangla	Amanda	139	7	132.86	930
160000	Zimmerman	Jenna	123	11	114.91	1264
151429	Zoch	Matt	138	12	134.50	1614

Menelki

• \$9.⁰⁰ For Felicity Doody Attached

• Gary McKinsey 11 GAMES 1584 pins * 144 avg

• Breanna Petty 11 GAMES 1239 pins * 112 avg

• Chris Usilton * 11 GAMES 1418 pins * 128 avg